TAKS Objective 3 Release Questions


Use the information below and your knowledge of science to answer question 1.
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The first equation represents photosynthesis. Plants use energy from sunlight to produce sugar and oxygen from carbon dioxide and water. The second equation represents aerobic respiration. Plants and animals release stored energy in a reaction between sugar molecules and oxygen. This reaction produces carbon dioxide and water.
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1. Which structure regulates gas exchange during the processes of photosynthesis and

respiration? (Grade 10 2003; B.13-A)

A Q

B R

C S

D T
2. All of the following symptoms are likely associated with bacterial infection except — (Grade 10 2003; B.4-D)

F skin rashes or lesions

G elevated body temperature

H swollen glands or tissues

J increased red blood cell count
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3. This seed is best dispersed by — (Grade 10 2003; B.13-A)

A water

B birds

C wind

D insects

4. Which organism lives in the human intestine and aids in the digestive process? (Grade 10 2003; B.4-D)

A The bacterium Escherichia coli

B The fungus Trichophyton rubrum

C The protozoan Entamoeba coli

D The algae Fucus vesiculosus
5. Which of the following is most likely to cause increases in a predator population? (Grade 10 2003; B.7-B)

F Fewer prey

G A reduction in competition

H More parasites

J A period of drought
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6. Which organisms in this food web can be described as both primary and secondary

consumers? (Grade 10 2003;B.12-E)

F Hawks

G Weasels

H Raccoons

J Mice
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7. This relationship is an example of — (Grade 10 2003; B.12-B)

A predation

B parasitism

C mutualism

D commensalism
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8. Wolves and hawks are at the same trophic level because they —

A both live on land

B are both large mammals

C both eat primary consumers

D have similar hunting patterns

9. Which of these characteristics might help a plant species survive in an area with limited sunlight? (Grade 10 2003; B.13-A)

F Bright flowers

G Large leaves

H Short stems

J Thick cuticles
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10. Approximately how much of the energy available in the tissues of the producer is eventually incorporated into the tissues of a secondary consumer? (Grade 10 2003;B.12-E)

A Less than 1%

B Between 20% and 30%

C Approximately 50%

D More than 50%
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11. In this food chain, the spiders are — (Grade 10 2003; B.12-E)

A producers

B primary consumers

C competitors

D secondary consumers
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12. Because of this animal’s adaptations, it would be most successful at — (Grade 11 2003; B.7-B)

F competing with birds

G making its own food

H hiding from predators

J running very rapidly

13. Most viruses infect a specific kind of cell. Which of the following are infected by the

human immunodeficiency virus (HIV)? (Grade 11 2003; B.4-C)

F Helper T cells

G Liver cells

H GABA-receptor cells

J Red blood cells

14. Some bacteria benefit mammals by helping with — (Grade 11 2003; B.4-D)

F growth

G defense

H digestion

J respiration

15. Energy used by producers in a grassland food web is provided by — (Grade 11 2003; B.9-D)

F sunlight

G photosynthesis

H oxygen

J carbon dioxide

16. Clown fish are small reef fish that seek protection from predators by sheltering

themselves among the stinging tentacles of sea anemones. Clown fish are very

territorial and can potentially scare off predators of sea anemones. This relationship

is an example of — (Grade 11 2003; B.12-B)

A neutralism

B mutualism

C parasitism

D commensalism
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17. Which of these groups of organisms would most likely have accumulated the largest

concentration of a long-lasting chemical pollutant in their bodies? (Grade 11 2003; B.12-E)

A Phytoplankton

B Zooplankton

C Lake trout

D Gulls

18. Compared to annual rings of trees that have experienced years of sufficient rainfall, the annual rings of trees that have experienced a dry period will — (Grade 11 2003; B.13-A)

F be softer

G grow at a faster rate

H be thinner

J photosynthesize at a faster rate
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19. The table shows a comparison of some amino acids found in cytochrome c. The two organisms in the table that are most closely related are — (Grade 11 2003; B.7-A)

A Q and T

B R and S

C Q and R

D Q and S

20. Species of the genus Toxicodendron, which includes poison ivy and poison oak, produce a gummy oil that causes a severe itchy rash in some animals. This substance is part of the Toxicodendron species’— (Grade 11 2004A; B.13-A)

F defense mechanisms

G nutritional processes

H support system

J clinging ability
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21. In this food pyramid, which level contains the greatest amount of energy? (Grade 11 2004A; B.12-E)

A Tertiary consumers

B Secondary consumers

C Primary consumers

D Producers
22. Which of the following factors helps spread disease-causing bacteria? (Grade 11 2004A; B.4-D)

F Low temperatures

G Access to new hosts

H Mutation by heat energy

J Availability of light
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23. Which of these conclusions can be made based on the graphs shown above? (Grade 11 2004A; B.7-B)

A Larger mosquitoes have migrated into the area.

B Smaller mosquitoes are being eaten by larger mosquitoes.

C A mosquito length of 2 cm has become a disadvantage in this environment.

D Mosquitoes with a body length of 3 cm have the longest life span.

24. Which situation best represents a mutualistic relationship? (Grade 11 2004A; B.12-B)

 
A A tapeworm absorbing nutrients from the intestine of a dog

B An orchid being pollinated by a nectar collecting wasp

C A human losing blood to a feeding mosquito

D An armadillo rooting in the soil at the base of an oak tree
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25. The table shows an amino acid comparison of cytochrome c, a protein involved in cellular respiration in aerobic organisms. The two organisms in the table that are least genetically related are the — (Grade 11 2004A; B.7-A)

A silkworm moth and the fruit fly

B silkworm moth and the screwworm fly

C fruit fly and the screwworm fly

D fruit fly and the hornworm moth
26. Viruses differ from bacteria in that all viruses — (Grade 11 2004A; B.4-C)

F cause insect-borne diseases

G can be destroyed by antibiotics

H have rigid cell walls

J must be reproduced in living cells
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27. In this food web, the bacteria probably function as — (Grade 11 2004A; B.9-D)

A producers

B herbivores

C decomposers

D carnivores
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28. A person living near this pond wants to reduce the mosquito population. The mosquito population included in this food web could be reduced by — (Grade 10 2004; B.12-E)

A planting more duckweed

B catching more minnows

C removing some martin houses

D adding more shelter for frogs

29. An oakworm caterpillar feeds on the leaves of an oak tree. This type of interaction is — (Grade 10 2004; B.12-B)

F mutualistic

G commensalistic

H competitive

J parasitic
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30. The diagram above represents a virus with its surface markers. The diagrams below show various animal cells with receptor sites. Which of the following cells is most likely affected by this virus? (Grade 10 2004; B.4-C)
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31. The maps below show the geographic ranges of four species of the order Lagomorpha, which includes rabbits and hares. In which range would developing white fur in winter most likely not be an advantage for a member of this order? (Grade 10 2004; B.4-B)
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32. Some antibiotics cause patients to exhibit digestive side effects. These side effects are

most often the result of — (Grade 10 2004; B.4-D)

F bacteria being killed in the digestive tract

G the antibiotics being converted into stomach acids

H too much water being drawn into the digestive tract

J the stomach wall being torn
33. After being introduced in the 1930s, the fire ant (Solenopsis invicta) became

established throughout much of the southern United States. One biological way to control

fire ants might be to introduce organisms that are — (Grade 10 2004; B.12-B)

A mutualistic with fire ant queens

B nurtured by fire ant workers

C preyed on by fire ant drones

D parasitic to fire ant larvae
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34. According to this food web, which of these is an omnivore? (Grade 10 2004; B.12-E)

F Caterpillar

G Mouse

H Ant

J Fly larva

35. Which of the following characteristics could help short plants survive in areas with limited sunlight? (Grade 10 2004; B.13-A)

F Broad leaf surfaces

G Brightly colored flowers

H Thick stems

J Shallow roots
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36. The difference in the size of each layer of this food pyramid is primarily the result of the difference in — (Grade 10 2004; B.12-E)

F food choices of individual niches

G oceanic zones of habitat

H the amount of food energy at each trophic level

J the relative heights of the organisms

37. A hummingbird feeds on the nectar of a flowering plant. In this process the bird gains

nutrition while spreading the plant’s pollen to other flowers. The relationship between

hummingbirds and flowering plants can be described as — (Grade 10 2004; B.12-B)

F commensal

G predatory

H parasitic

J mutualistic

38. What is the most common threat to a host organism posed by an invading virus? (Grade 10 2004; B.4-C)

A Production of viral fluids in the bloodstream

B Fermentation of acids in the digestive system

C Destruction of cells by viral reproduction

D Stimulation of muscle tone in the heart

39. Some bacteria thrive in hostile environments, such as salt flats, boiling-hot springs, and carbonate-rock interiors, primarily because of bacteria’s — (Grade 11 2004J; B.7-B)

F biochemical diversity

G small sizes

H round shapes

J methods of movement

40. Beechdrops (Epifagus virginiana) are leafless plants that lack chlorophyll. Beechdrops get their nourishment from the roots of beech trees, which reduces the amount of nutrients available to the trees themselves. This interaction is best described as — (Grade 11 2004J; B.12-B)

A predatory

B parasitic

C commensalistic

D mutualistic

41. Which of the following leaf types is most likely to help a plant survive in an arid habitat? (Grade 11 2004J; B.13-A)
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42. Which of these structures protects a leaf from drying out? (Grade 11 2004J; B.13-A)

F Q

G R

H S

J T
43. One characteristic shared by a virus and a living cell is that both — (Grade 11 2004J; B.4-C)

F store genetic information in nucleic acids

G have a crystalline structure

H gain energy directly from the sun

J use glucose for respiration

44. A food pyramid represents the relative amount of energy in trophic levels. Which of

the following correctly shows a food pyramid? (Grade 11 2004J; B.9-D)
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45. The table lists four groups of factors found in a particular ecosystem. Which group consists of only abiotic factors? (Grade 11 2004J; B.12-E)

F Group 1

G Group 2

H Group 3

J Group 4
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46. The diagram illustrates how some characteristics of the horse have changed over time. Along with the difference in size, what is another anatomical difference between the modern horse and its ancestors? (Grade 11 2004J; B.7-A)

F The structure of the tooth has been adapted for eating meat.

G The size of the molars has decreased.

H The length of the forefoot has decreased.

J The number of toes has decreased.
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